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KENDRIYA VIDYALAYA NO.1 (lind shift) INDORE
Holyday Home work Decembor 2019
CLASS = VI

MATHEMATICS

....... I (b) Increasing (c) decreasing (d)y equal
11 h space between rectangles Is always ........ (a) Unequa
2 I: :nb:/:;?lzz%asl'i‘::s t:st the following marks were obtained by 40 sludents. Arrange lhese marks In a table using tally marks.

3 Total number of animals in five villages are as follows:

Village A: 80
Village B: 120
Village C: 90
Village D: 40

Village E: 60 ) ons.
Prepgare a pictograph of these animals using one symbol o represent 10 animals and answer the following question

(a) How many symbols represent animals of village E?
(b) Which village has the maximum number of animals?
(c) Which village has more animals: village A or village C?

4 The marks out of 100 obtained by 20 children are given below: ‘ ‘
80.40.20.60.50,50,50,40,90,70,50,60,20,50,60,70,40,90,70,30FInd the number of children who obtained
(a) Marks more than or equal to 50 (b) Marks below 20

5 Draw a bar graph for the following data taking scale of 1unit length=>5 students
Number of students

Preferred activity
Playing 45
Reading story book 30
Watching T.V. 20
Listening to music 10
Painting 15

6 If length of side of a square 15 cm then find its perimeter

7 The perimeter of a regular pentagon is 100 cm. How long is its each side?

8 The area of a rectangular is 50m long is 450 sq m. Find its width and perimeter also

9 A flooris 5m long and 4m wide. A square carpet of side 3m is laid on the floor. Find area of the floor that is not carpated

10 Perimeter of a regular pentagon with each side 2cm is .
11 Find the perimeter of the figures given below (a)A pentagon of each side=5cm (b)A parallelogram of sides 2cm and 3cm respectively

[ ]

12 Aroomis 4m long and 3m wide. How many square metres of carpet is needed to cover the floor of the room? Also find the cost of the

carpet if 1square metre costs Rs.20.
13 If there are 50 mangoes in a box, how will you write the total number of mangoes in terms of the number of boxes? (Use b for number of

boxes)
14 Which out of the following expression with numbers only? (i)y+3 (i) (7-82) (ii)5 (iv) 3x
15 Write in expression:(i) 12 subtracted from z (ii)y divided by 8(iii) x multiplied by 10 and then 7 is added to the product .
16 Pick out the solution from Values given in the bracket next to each equation show that the other values do not satisfy the equation
() 5Sm =60 (10,5,12,15)(ii)) n + 12 = 20 (12,8,20,0)(ii) p-5=5 (0,10,5,-5)
17 Choose the correct solution of the equation y-5=5
18 Give expressions for the following cases:(a) 5 added to p (b) —p is muitiplied by 7
19 Answer the following by taking Sarita’s present age to be “x” years (a) What will be her age 5 years from now?
(b) What was her age 5 years back? (c) Sarita’s grandfather is 5 times her age. What is the age of her grandfather?
20 Pick out the correct solution from the given values in the bracket next to each equation (a)p/2=9 (9,7,18,11) (b)n+12=15 (12,3,27,8)

21 The expression for 15 subtracted from 5m is

22 Give expression for a) y is multiplied by =7  b) 4 added to p

23 Present age of father is 42 years and that of his son is 14 years. Find the ratio of
(a) Present age of father to the present age of son (b) Age of father to the age of son when son was 10 years old,

24 Rama is drawing a dot rangoli. She has 6 dots in a row. How many dots will her rangoli have for ' r' rows? How many dots are there if
there are (a) 8rows b) 10 rows?

25 Find ratio 81 to 108

26 1f 5:4:: 30: x, then find the value of x

27 There are 45 persons working in an office. If the number of females Is 25 and the remaining are males, find the ratio of:
(a) The number of females to number of males. (b) The number of males to number of females.

28 The weight of 72 books is 9 kg. what is the weight of 40 such books?

29 Choose the correct equivalent ratio of 3:2 (a)12:8 (b) 3:4 (c)8:12 (d)5:6

30  Find the ratio of (a) 30 minutes to 2 hours (b) 55 paise to Re,1

31 The weight of 72 books is 9 kg. What is the weight of 40 such books?

32 In a college, out of 5000 students, 2000 are girs. Find the ratio of
(a)Number of girls to the total number of students. (b) Number of boys to the number of girls.

33 The ratio 500ml to 2 litres is A) 500:2 B) 1:4 C)1:2 D) 6:2
34 If the cost of 12 books is Rs 96, then the cost of one bookis A)Rs8 B)Rs 6 C)Rs 4 D)Rs 10

35 Determine whether 30, 40, 45 and 60 are in proportion or not?

36 Divide 30 pens between Raju and Ravi in the ratio 3:2
37 Are the ratios 259 : 30g and 40kg : 48kg in proportion ?
If they are in Proportion write the middle terms and extreme terms.
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KENDRIYA VIDYALAYA NO.1 (lIind shift) INDORE
Holyday Home work Decombor 2019
CLASS = VIl
MATHEMATICS
1 Which of the following angle is constructed by ruler and compass: 30", 20° 90°, 35°
2 Draw a line segment AB of length of 6 cm take a point P on It from P draw a lino segment PQ of length of 4 cm.

3 Construct a AXYZ where XY = 6 em, YZ =7 cmand ZX =8 cm
4 Construct a AABC wherem .~ B =600, AB = 55 cm and BC = 7.6 cm

S 1 hectare = () 1000 Sq m(b) 1000 Sqem (c) 10000 Sam (d) 10000Sq km '
6 A wire is in the shape of a rectangle. Its length is 40 cm and breadth Is 22 em. If the same wire Is rebent In the shape of a square, what will be the measure of
each side.
7 Find the area of each of the following triangles: = P
8 PQRS is a parallelogram. QM is the height from Q to SR and QN is the helght from Q to PS. If SR = 12 ¢m and QM =7.6 cm. Find:
(a) the area of the parallelogram PQRS (b) QN, if PS = 8 cm " ©
N ‘:\ : h{;
s "M e
9 In the following figure, find the area of the shaded portions: & 10emn B Aem
- .
ot z

10 Find the circumference of the circle with radius 14 cm.

11 Find the area of the square park whose perimeter is 320 m. ‘ ) ) )
12 If two cubes of dimensions 2cm by 2em by 2cm are placed side by side, what would be the dimensions of the resulting cuboid?

13 A garden is 90m long and 75m broad. A path 5m wide is to be built outside and around it. Find the area of the path.
14 Find perimeter of the adjoining figure, which is semi circle including its diameter Q

——e L OO TV i

15 How many times a wheel of radius 28 cm must rotate to go 352 m ? A
16 Two cross roads each of width 10 cm, cut at right angles through the centre of a rectangular park of length 700m and breadth 300m and parallel to its

sides.Find areas of roads. Also find the area of park excluding cross roads

17 1f -2/5 = 24/x then find x
18 The algebraic expression of the statement: Sum of numbers a and b subtracted from their product.

(a) (a + b) —ab (b) (a —b) - ab (c) ab - (a + b) (d) none
19 Find the value of the following expressions: 5n—2 when n =-2.
20 What should be the value of a if the value of 2x 2 + x —a equals to 5, when x = 0?
21 From the sum of 4 + 3x and 5 — 4x + 2x2, subtract the sum of 3x? - 5x and —x2 + 2x + 5.
22 Simplify.216-32 +7b— 12
23 Classify monomial, binomial, trinomial from the following. (i) 5x+2 (i))9x + 3y + 2z (iii) 11x
24 From the sumof 3x—y + 11 and-y - 11, subtract 3x —y— 11.
25 Convert into algebraic expression: (i) The number y multiply by itself (ii) Product of y and z subtracted from 10
26 Classify the following into monomials, binomials and trinomials: (i) 4y-7z (i) 3x2 + 7xy + y2(iii) 3m (iv)x2 — y2
27 Add 14x + 10y - 12xy -13, 18 = 7x -10y + 8xy, 4xy
28 Subtract 5a° — 7ab + 5b? from 3ab — 2a2 — 2b?
29 Simplify following expression and find their values if x=3,a=-1,b=2 ()3a+5-8b+7a—-2b-3(i)2-8x+4x+6
30 Simplify : 2°x 3°Xx 4°
31 Express into the Standard form : 70, 040, 000, 000
32 Express each of the following as product of powers of their prime factors: (a) 648 (b) 3600
33 Simplify and express in exponential form: )
34 Write the number in standard form 53000000.
35 Express 256 as a power of 2.
36 Write in expanded form using the power of 10. (i) 375023 (ii) 8613002
37 Express following numbers using exponential notation: (i) 512 (i) 3125
38 Using laws of exponents, simplify and write the answer in exponential form:
39 write 279404 in expanded form
40 Express 3,90,878 in standard form
41)Simplify: 25,62 . 4*
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Loials

o ~ THIRD ROUND OF TEST ITEMS
AL g | 5 - SCIENTIFIC LITERACY

o

i

~ Test item 1: Bee Colony Collapse Disorder ,

’

l_Jnit Overview

This released unit deals with the phenomenon known as bee colony collapse disorder. The stimulus,
materials include a short text introducing the phenomenon and a graph showing results of a study
investigating the relationship between the insecticide imidacloprid and bee colony collapse disorder.

Bee Colony Collapse Disorder -
Item #1 ' ‘

“BEE COLONY COLLAPSE DISORDER:

Analaring “hehomedonTs theatening bee Colories aroundthe workd- This phésiomenanis
“called colony cotpse disorder, Colony colapse ocairs wheri bees abandon the beetive,
‘Separae e, the bees die, 5o colony cotapse disorder has taused the death of
fens of bilions of beés:Reséaichers believe thal there are a mumber of causes for colony
- - ‘coflapses i

By

| a5 Bes Cobry Collspse isodai” anthe it

TR

Rl
S

3 birds: Bees feed on the nectar of the sunfower, utile:
§ e birdsfeod on the secds. .

- Given this reiaBonship, why might thé disappearance of
 bees resisl ina decine in the bird popuiation?
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Bee Colony Collapse Disorder
Item #2

'BEE COLONY COLLAPSE DISORDER
Exposure fo Imidacloprid

Scientists believe that there are mutiple causes for colony collapse disorder. On2 possible
cause is the insedlicide imidacloprid, which maj cause bees to lose their sense of orientafion

when outside the hive.

J Refer to "Exposure to Imrdac}opnd' onthe nght
Select from the drap-down menus to complele the

senfence.

Researchers tested whether exposure o imidacloprid leads to colony cofiapse. In a number of

£~ Destribe the researcners' experiment by completing
hives, they added the insedticide to the bees’ food for three weeks. Different hives were

A GE RIS S e s gy S '
e T A T L T T TS I TS

- the Toflowing sentence.
S ) exposed to different corcentrations of the insecticide, measured in micrograms of insacticide
H The tesearchers tested the effect of per kilogram of food (gkg), Some hives were not exposed to any insecicide.
. Select _'_ji on
f S0 S O A None of the colonies collapsed immediately after exposure to the insecticide. However, by
S"".__,ed S __,________:_f ; | AWEEK 14, some of the hives had been abandoned. The following graph records the observed
: 4 resuts;

RENBIR Y

©
o
=
o
0 'U'
Qs -
So -+ Opgqg
83 e 20 pgkg
EU 25% o p—t =7 400 pgKg
g

= (-]

2 o

0% Frntf i
0 12 14 1B 18 20 2

SRS

‘Number of Weeks After Exposure to Insecticide

Students are asked to select from among three options in each drop-down menu. Those options

include:
1.  collapse of bee colonies

2. concentration of imidacloprid in food
3.  bee immunity to imidacloprid

o Y I Y . W o Y




Bee Colony Collapse Disorder
Item #3

: BEE COLONY COLLAPSE DISORDER
H Exposure to Imldacloprid
i 5: ?d%feiomvgmﬁfe’m el Sciertists befieve that there are mutiple causes for colony colapse disorder. One passible
i * © causeis the msediadq lrmdadopnd wiich may cause bees fo lose theit sense of Oriertation
; when outside the hive.
; Which onedfthe folowing conclsions matches e e P _ ,
* resitts showninthe graph? : Researchers tested whether exposure to imidacloprid leads fo colony colapse. Ina number of
;;‘ £ Colories expased 10 a igher concentaton o £l hives;they auued ine insectade to the bees'food or vee weeks. Diferént hives were
L& mdadopnd tendlo colhpse soorer. 1 exposed fo di ﬂ'efefi concertraﬁons of tre insecticide, measwed in micrograms of insecicide
e . A perkilogram of food
¥ Coloues dtoiridacpi — i per Iog mof food (19)g)- Some hives were not exposed to any insecticide.
i {0weeksol
10 emoswe i} None ol !he colomes colapsed ;mmedia ely after exposure to the inseclicide. Howerrer, by
@W}Olmdadopﬂd al concertiations below £ - week 14 sorne ofthe ives fad been abardoned. The following graph fecoids e tbserved
: 20 pgkg does not ham colordes. 4 resuls:
£ & Cohnaemnsedm mudadopnd cannot sumve i
fOTlTIOfEﬁWIﬂWSEIG r’%f : 100%  5m—-rrer
i 8 '
: i @
. o5 ™
: "aj-ﬁ “50% —+ 0pgkg
| - R =2
E 4 <0 . ! i } IR !
oy i B
% L { ] i
1 - |
. 0% [t i i
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Bee Celony Collapse Discrder
Item #4

BEE COLONY COLLAPSE DISORDER
Exposure lo Imidacloprid

5 mt;wilo e qmwfhon A on et Tjpe Sciertists believe thal there are mutiple causes for colony collapse disorder. One possible
i|  causeisthe insecticide imidacloprid, which may cause bees o lose their sense of orientation
X when outside the hive.

‘* Look atthe resul in week 20 for the hives thal the
= researchersdid not expose to nmdadopnd (0 pakal

g Researchers tested whether exposure to imidacicprid leads to colomy colapse. Ina umber of
7‘* What does itindicate about causes of colapse among

hives, they added the insecticide to the bees: 1ood for three weeks. Different hives were
exposed to different concentrations of the inseclidde; measured in micrograms of insecficide
per kllogram of food (pakg). Some hives were not exposed 10 any insecticide.

T A R

None of the colomes collapsed immediately after expasure o the insecticide. However, by
week 14, some of the hives had been abandaned. The following graph records the observed
restts;

" ; 100% R e T S 4 3
' o ' : {
S o ) : i :
x g 7540 San "“ "- —F e}
o i ? :
0% t : .
& 9.2 an% b L/ ——0yigkg
i 3] ; Lo+ r
3 ETJ I == 20pg*a
20 , o - L ) I
g P50, - e b g g TV 400 pakg
E : 4 v/ :
]
o ; i
0% Beedd e

0 122 1 1 18 2 2

- Number of Weeks ARer Exposure to Insecticide




W 5
Bee Colony Collapse Disorder
Item #5
Sdienfists have proposed two additional causes for colony collapse dlsorder 5
| » Avirus that infects and kil the bees
: vA parasmcﬁythai lays lls eggsinthe abdomen ofthe bees.

Which of the demg ﬁndmgs supports the claim that bees die because of a wrus7
8 Eggs of another ¢ orgamsm viere found in hives.

ISR AN A A

e & Insectludes vere found inside the bees' ceﬂs -

8 Nor}bee_DNAwas,fgund insidz the bees' cells.
{7+ Dead bees were found in hives
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Test Item 2: Fossil Fuels

Unit Overview

This released unit explores the relationship between the burning of fossil fuels and CO; levels in the
atmosphere. The stimulus material includes a diagram illustrating how carbon cy-les in the
envircnment and a shert text describing strategies for reducing the amount of CO; released into the
atmosphere, a table comparing the characteristics of ethanol and petroleum when used as fuel, and a

graph illustrating the results of a mathematical model that calculates carbon capture and storage at
three different ocean depths.

Fossil Fuels
Item #1

FOSSILFUELS
2| 1 Manypowes larts bum carbon based fuel and et catbion dioxde (CO;) CO; reeased o
: ¢} theamosphere has 2 negative impact on global imate. Engineers have Lsed dferert
. Relro Foss? fuels™ aathe fight Clickonachoice © stralegies to reduce e amowr of CO, released irko the simasphere.
¢ o anseey B quesion i
Bacoo One such stratogy is o bum bicfuels instead of fossit fusls. Wil fossil fusis come fom 3
+ Usng bofiels does not have the same efied on : SSNE S : : H
. emosteiclvs o C0p 2s IShgbssl s Which - hrgdeadugambmdmgsmmmmdamcedrecemy ‘
* of e stztements bekw bed explains why? £ o _ _ _ .
: 7i  Ancher strategy invoves repping 2 poriion of fhe CO, emifizd by power plars end stosingt.
| BichEs o rsiease OO, when ey bum desp inderground of inthe ocezn. This strategy is calad carbon capiure and storge. :
| 7 Pemusedfubiciesason CO,fomte
- aogherasheygow : ;
* = Astejbun biokeks ke in CO, Forathe
© mosee. ,;
- The CO; reteased by pover parts ising biotusls. -
hes diferert dhemica! properies fhan thal
relzzszd by powe plznts using foss] fueks. ; i
|
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Fossil Fuels
Item #2

FOSSIL FUELS

Many power plants bun carbon-based fuel and emit carbon dinide (C0,). CO; released nta

§ the atmosphere has a negative impadt on global cimate. Engineexs have used diferent
Refer!o “Fossil Fuels*onthe nght Type youranswers | strategies fo reduce e amourt of CO, teleased o the atmosphete.

foﬂ)eqwma&

A

*One such srateqy is o burn biofues instead of fossil fuels. Whle fossifuls come fom
long-dead orgamsms blofuel comes from plants that iived and dedrecenty,

35 8

Despﬂeﬂeadxarisgesdblowslotmeemrormert
1 fossilfuess are st widely sed Thefolowinglable

 compares e enegyand O0; reeased when
 peliokum and ethanal are bumed. Petcleunis afossil + Ammefstralegylmoweshapplngapomnoﬂhe GO, emitied by poreer plarts and sfoing t

[uel whike ethanolis a biafuel o Geep undergromd orin the ocean Ths  trategy s called carbon capture and slorage.

 haordngfote table > why might somecne prefr Using
. pefrleumincted of ethend) evenif thei castis e
: sme?

P e e i e v Ay 21

¥
B
18
ic

Accordng to ihe table, what s an envronmental
; advartzge of using efharal mstead of petroleum?
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Fossil Fuels
Item #3

Referto “Carbon Capture and Stovage* on the night.
Type your ansver fo the question.

Usethe datain e grashto em‘am how depth aﬂeds 3
mebngxermet‘edwenessotstonngtoz inthe ocean. i
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Carbon capture and storage involve trapping a portion of the CO; emitted by powes plarts
and storing it where it cannol be released back inta the atmosphere. Cie possible place o

FOSSIL FUELS
Carbon Capture and Storage

store the CO, isin he ocean, because the €0, dissohes in the water.

Scienfists have developed amathematical modelto calcuiate the percentage of CO, that

" continues to remain sored afler COy is pumper!inta tfe ocean al three diflerent depts (800
metres; 1 500 melres, and 3 000 metres). The model assumes that the CO, is pumped irfo

* the ocean inthe year 2000 The graph bekm shows the resuts of this model

CO2 ‘R‘umalnl_ng-svtored In the

Ocean (%)
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. lo answer the question.

. Seledt the location on the map below that is least likely to’
. experience volcanic adtivity or earthquakes,

L T v P,

Test item 3: Volcanic Eruptions

Unit Overview

This released unit focuses on the distribution pattern of volcanoes and the impact of volcanic
eruptions on climate and the atmosphere. Stimulus materials include a map showing the location of
volcanoes and earthquakes around the globe and graphs illustrating the impact that volcanic eruptions

have on the amount of solar radiation that reaches Earth’s surface and on carbon dioxide
concentrations in the atmosphere.,

Volcam‘r;' Eruptions
Item #1

VOLCANIC ERUPTIONS

‘Voicaric eruptions and earthquakes affect people in many parts of the worid. Map 1 shows
.the location of volcanoes. Map 2 shows the location of earthquakes. A region called the
1 Refer 1o “Volcanic Eruptions” on the right - Click on a choice Ring of Fire s shown on both maps.

s e e el S e e . e e

F
4

Map 2 - Earthquakes
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Volcanic Eruptions
Item #2

i VOLCANIC ERUPTIONS
Etfects on Solar Radiation
Refer to "Effects on Solar Ra
~ ansverto the question, or Rediston" on height Type your b Whenvolcanoes enipt, they emil vol.anic ash and sulphur dioxide into the aimosphere:
' 1 Thegraphbelow shows the effectthat these emissions have on the amourt of solar
§ radiaion thal ieaches Earth's surface.
- Whydoes the percentage of solar radiation thal reaches ;o -
© Earth's mfacepg\ingegﬂer volcanic eruptions? Solar Radiation Reaching Earth's Surface Over Time
| R er o
._S; ;; MajorVoIca?m Emphoqs |
4 ! 59 ' i 3
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Volcanic Eruptions
Item #3

11

i VOLCANIC ERUPTIONS
i Atmospheric Carbon Dioxlde
Refer fo “Atmosphexic Carbon Dioxids™on e right. Clickon iy Volcanoes emit carbon dioside (CO,) during enuptions. The graph bedow shorws
L daommanmmeqwsbon | amospheric carbnn dioxide concertreons that scientists have measured since 1960.
b €O, in the Atmospiicie Over Time ‘
3 I
3‘ Basedonlhenfmmhon provided, whateﬂeddOVdcanlc i 400 preveviregsrtrser - crrrprere e
< enpfions have onthe concentration of carbion dioxide in te i ) i
H here? - o z ; *
% BWJSP?H& L’ 2 E‘ 380 frrareir ..____%\,.u..“,‘,..;‘.,w., _,_r S ,-.:%,.
A——— B o Vol ‘ ;U
i Amajor effed, because there have been mary £E . : f A
i 6 Amaprﬂﬁed,bemme eacheruphon qedslarge = 1. . !
;- . nf matorial ; 2 's 340 et
~ . h B [s5
: g},\mmrmecf,becausevolcanoesrelease fitte CO, ,—2;’
¢ -compared to other sowces. g L
FE cL
- Aminorefied, becatse CO, evels nthe almosphere S ’ 3
deue&*mmgemtxom £ E' L M T P
| ok |
‘; f < 230 - R ¢ FRPETryieer s‘w'f‘r?\ﬂﬂvr~ri!~ >y
1960 1970 1980 1980 2000
Year
“§ Thetable below shows the relative cortribution of difierent sources to the carbon
b doideinthe atmosphere. '
i B
f :;‘ : \Conmbunon fo CO_; ;n the Atmcsphere
)} ?{' ‘ A ¢ ﬁ.n ."-.: RSP b s
H Volcanic enissions: <1% -
’ : Human-caused emissions 0%
:
& Plant fespiration 0% ;
. : Microbial respiration and decomposticn 0%
: TR T bt J
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KENDRIYA VIDYALAYA NO.1 (lind shift) INDORE
Holyday Home work December 2019
CLASS = VIIl
MATHEMATICS

Add: 2p’q?-3pq + 4 and 5 + 7pq - 3p*q?
Subtract 4p%q - 3pq + 5pq? - 8p + 7q — 10 from 18 = 3p -1 + 5pq = 2pq” + 6p’g
Use Identity and find product (I (x + 3)(x + 3)  (I)(6x = 7)(Bx + 7)  (lll) (2x = y)(2x = y)
Using Identity, evaluate: (iy 712  (il) 207x303 (i1} 512 — 402 (Iv) 092

Show that (p-Q) (P+ Q) +(a =1 (q+1) +(r-p)(r+p)=0

Using suitable identity find the product (Gx = 7)(0x +7)

Find the value of 1027 using sultable Identity

Simplify (7m = 8n)? + (7m + 8n)°

Find the product of (2x + 5) and (4x - 3)

Simplify 3x (4x-5) + 3.

Subtract 3a -3b +5¢ from 2b +4a -3c.

Exoand (3x + 5v )

Find the value of 102* usina suitable identitv

Simplify (2x + 5y) ( 2x + 3y).

Find the product using suitable identity (2y + 5Y2y + 5)

Simplity (x* - 8)(x+ 5)+ 25

Using a® - b = {a+ da—Db),rind52? — a0?

Simplify 1{2x + 5)F — (2x — 8)*

Using (x4+ax+ D)=+ (a+DI)x=ab.find35 1L x0.2

(4ppq + 3q)% — C4pq — 3q@)? = 48pq?
If area of acircle 77 sq.cm, find its area
The diagonals of a rhombus are 7.5 cm and 12 cm find its area

A road takes 750 complete revolutions to move once over to level a road. Find area of the road If the diameter of a road roller Is 84 cm and length is 1m
A milk tank is in the form of cylinder whose radius is 1.5 m and length Is 7 m. Find the quantity of milk in litres that can be stored in the tank?

If cost of milk is Rs.40 per litre then find cost of milk also
A closed cylindrical tank of radius 7m and height 3m Is made from a steel of metal. How much sheet of metal Is required?

Find the height of cylinder whose volume is 15400 cm® and diameter of the base is 140cm.
Find the height of a cylinder whose radius is 7cm and the total surface area ls 968cm?
Find the area of a rhombus whose diagonals are of length 10cm and 8.2cm.

The diagonals of a rhombus are 7 cm and 10 cm. Find its area.

Find the side of cube whose surface area is 600 cm>.

Find the height of cube whose base area is 180 cm?and  volume is 900 m?

Area of base of cylinder is 154 cm?, heightis 10cm . Find its curved surface area and its volume.
Can a polyhedron have three faces?

How are prism and pyramids alike?
Verify Euler's formula

,z—/l >
L1 /
using Euler's formula find unknown

Can a polyhedron have 10 faces, 20 edges and 15 vertices?
Draw the front ,top and side view of the object given. —————

Draw side view, front view and top view of “a car”.

if a polyhedron has 5 faces, 9 edges then find number of Its vertices.
Evaluate: (i) 3% (i)
(3)
4

simplify: (i) (37 %+ 3-10)x3-5 (i) ( 1 J-’ [ 1 ]4
3 2
Express the following in standard form: (i) 0.0000056 (i) 34291.23 (liiy 5162
Express the following in usual form (i) 3.62 x 10-6 (ii) 4.5 x 108 (iii) 1.01 x 102
Find value of mif 7" +7-4 = 711
Simplify © 3 * 510 * x125
57Tx6"

25Xt
find the value of 5-3 X 10 X ¢-B

Express 0.000035 in standard form .
Express 7.54 X 10 in general form.
Express 0. 000035 in standard form,
Evaluate (37 + 47 +57)°

Evaluate (5" X 27 ) x 10%

Find the value of m for which 5™+52 = 5° ,



SCLIENCE

O Aewpt o PILA Jeuk damt (Liedlife
Lilisaeyy gien Fo you (photoespy Guven)
@ Daaw Du\gﬁ/w:ﬂw«/aa e o&_@-ﬁﬂ@mﬁév
(a) Page - 103
FLZ" - 4.1 ,9-2, 13,
(b) PA%.Q" 10>
ﬁﬂ-" 9-<
) Pa_%?/ 106 .
C\»_%. 2 q.\olq'n)oma_.

Ehom
© Pepp- e
| o 5 6,1
. P -124
Zgﬂﬁ, 6,8
(&) faor= 169




THIRD ROUND OF TEST.ITEMS
SCIENTIFIC LITERACY
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..., ™ .Testitem 1:Bee Colony Collapse Disorder

Unit Overview ' ,

This released unit deals with the phenomenon known as bee colony collapse disorder. The stimulus
materials include a short text introducing the phenomenon and a graph showing results of a study
investigating the relationship between the insecticide imidacloprid and bee colony collapse disorder.

Bee Colony fgllapse Disorder
Item #1 o

-

PIQA 2016'

- Mahemsaneﬁedbeymﬂmebeesl’eople B
= who'study bids have identifed animpaci The

= sunflower isa food source for both bees anG cetain -
5 " birds: Bees feed on the nectar of the sunower, e

£ Gwmhsrdaﬁmshp,mmgﬂlexfsappeatance_
] besrestlmdednemﬁ:ebndpopwﬁon?




Bee Colony Collapse Disorder
Item #2

o BEE COLONY COLLAPSE DISORDER
; E‘ Exposure to Imidacloprid
: Refer b Exposure o lmﬁeckpnd‘mmm f
© Seled! fom the drop-down menus b complefe the i Scientists believe that there are mutipie causes for colony colapse disorder. On possibiz
. Senlerce 8 cause is e insectiaide imidacloprid, which may catse bees to lose theit sence of ofientzion
; ;: when outside the hive,
; t‘xeD_ 't;—' Re e researcners' eperiment by completing f  Researchers tested whelher exposure o imidacloprid eads to colory cotzpse. bn a rumber of
: JWing semence. hives, they added the insedticide to the bees’ food for tree weeks. Differert hives were
: , , 7] exposedtodiflerent conceniraions of ihe insecticide, measured in MiC/0gr2ms of insectioce
3 ‘The researchers testad the efed of _ o oper kilogram of f0od (gkg). Some hives were not expased to amy Insecicice
- Seeat , vion Bl
e - — 5 None of the colonies colapsed immediately afier exposure to the inseciade. Hewevet, by
- [Seket PR % &l weekM some of the hives had been abandoned. The folawing graph records the observed
£ N
o P
° : !
: § "% i _A
: : 58 5% g ~+0ukg
: = o8 i i1 i
H g g g L/ ‘ £ : j - Dpeky
5 E0 o d et T 40000
= a ;
3 0 12 ¥ 16 1B 20 2
ﬂ Number of Weeks After Exposure {0 Insecticide

Students are asked to select from among three options in each drop-down menu. Those options

include: _
1.  collapse of bee colonies
2. concentration of imidacloprid in fooc
3. bee immunity to imidacloprid




Bee Colony Collapse Disorder
Item #3
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Re!erto Expasure fo Imidacloprid” on the right. Click
on achaice o answe the quiestion.

Whrch one of the following conclusions matches the
> results Shown n the graph?

"‘Co!mesexposedtoarughercorwmhmb(
imidzcloprid tend to col!apsesooner

a8 O Calories éxpased to imidadioprid colapse wihi
10w==eksofexpoane

& Bxposrelo lmdadopnd al concentrations below
2 pg?gdoesnoi harm colonies -

s 8 Oolomeswoseu to mudadopnd camnot sumve

formore fran 14 weels

:
i
]
o
i
]
i
3
5
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BEE COLONY COLLAPSE DISORDER
Expagure to Imdacloprid

Scientists beieve thal there are muipie causes for colony colapse disorder. Orie passible
cause is the msedmdn imidacloprid, which may cause bees fo lose their sense of riertation
When ouside the hive,

Researchers tested whether exposure fo imidacloprid leads fo colony coi!apsn nanumber of
hives; they auued me Insectiaide to the bees’ food tor twee weeks. Differént hives were

- exposed o uiﬂered concemabons ofthe insecticide, measured in micrograms of irsecticide

perklogramoffood (1gAg) Some hives werenot exposedtto an insecticide.

Nane of ﬂk cohmes colapsed immedi ately after exposure to the insecficide. Howerer, by

 week 14 Sorne of e hlves had beén abandoned. The fo!lowmg graph records the observed-

resutls

100% 5

.,< i
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Percentage of Colonies
Collapsed
(S
s

0 12 1 16 18 20 2

‘Number of Weeks After Exposure to Insecticide




8Bee Celony Collapse Discrder
Item #4

5] 3 BEE COLONY COLLAPSE DISORDER
Sy 8 Exposure o [midacloprid

Refer b ‘Expostre o Imidaciopiia” on the rght Type

your riotieg 5 oy Scienlists befieve thal there are mutiple causes for colory colapse disorder. One possible

cause is the insecticide imidacloprid, which may cause bees [0 lose their sense of orientation
when outside the hive.

,. -
...-ur-‘l PR BN

‘.A Lod(atmeresmmweekmformem'eslhalme ) ,
¢ researchersdd natexposelto imidacloprid (0pgkg). -1 Researchers tested whether exposure tomidacicprid leads to colony colapse. Ina mber of
ia Whet does it indicate about causes of colapse among Gf hives, ey added the insecticide to the bees 100d for tee weeks. Diferent ives were

- fhe siudied colonies? i expasedto dlﬁ&feﬂ concerirations of the insecticide; measured in micrograms of insecticide-
= = - s per kilogram of food (ug’kg) Some hives were not exposed to any insecticide.
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None ofthe cofomes collapsed immediately after expasure fo the msed:ade leever by
week 14, some of the hives had been abandoned. The following graph records the observed:

v 5
AT b .0 ¢ et

results.
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- ° - i
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£ 5% e gremg e 400 p0'kg .
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- Number of Weeks After Exbps'ure to Insecticide




Bee Colony Collapse Disorder
Item #5

‘\ Scientsts have proposed two addiional causes for colony collapse disorder:

o Avins hatinfects and kils e bees,

& » Aparasitic fy that lays its eqgs in the abdomen of the bees:

3 Which of the fo" ,wmg ﬁndmgs supports the claim that bees die because of a \nrus’?
£ Eggs of another orgamsm were found in hives.

& Insecticides were found inside the bees' cels. )

) Nonbee DNA was found inside the bees' cells.

£ Dead bees were found in hives.

z‘;
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Test Item 2: Fossil Fuels

Unit Overview

This released unit explores the relationshi
atmosphere. The stimulus material includ
envircnment and a short text describing s
atmosphere, a table comparing the chara
graphillustrating the results of a mathe
three different ocean depths.

p between the burning of fossil fuels and CO; levels in the
es a diagram illustrating how carbon cyzles in the y

trategies for reducing the amount of CO; released into the
cteristics of ethanol and petroleum when used as fuel, and a
matical model that calculates carbon capture and storage at

Fossil Fuels
Item #1

FOSSIL FUELS

Many power plants bum carbon-based fuel and emit carbon dioxide (CO,) CO, released into

: — il theamospherehasa negative impact on global chmate. Engineers have used diferent
¢ Referto "Fossd Fuels” on the fight Click on a choice .  stalegiestoreduce tie amount of CO, released into the atmosphere.

7 Ioansterthe question CE ‘

. : 5 Onesuh stretegy is to bum biofuets instead of fossil fuels. White fossil fuels come from
3 Uazg:udwis_doesmmemesameeﬁggon s S e 3 P

e sphasic levels of €0, 25 using sl uels. Wtich long-dead oiganisms, biofuel ;om.gs.f,mm plants that ived and died recently.

¢ of te statements bekw best explains why? £

£8  Another strategy invoves rapping 2 portion ¢! the CO, emitted by pqwér plants and stoing it

7 5 Eim&’do'mi teease GOy whenthey bun § deep underground or in the ocean This Strategy i< called carbon capture and storage.

- Plentsused for biofuels absory CO; from the

atmosphere as they grow :

T Astrey bum biofuels akein CO, Fomthe

. m‘a&, i

. Tz CO, released by power plarts using biofuels
hes dificrent chemical properties than that

St N AN S

. . & 5 3

felezsed by power plarts using fossil fuels. i Released to Amasphere :
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Fossil Fuels
Item #2

‘:
3

fomlheisareshlvndevlsed The following lable
- wrparesmeenargyamcozfe!eaSed when

h)elwmeethanoltsablduel

Re!efto “"Fossil Fuels" on the night. Type your answers
totheqwsbon& 3

 Despte e adatages it o e eniornen

- petgemand e arebuned Pedeumisalosl

Bl | 213 5

é'petohmmstead of efhend, evenif heir costis the
s

PSS O o e R e e

According to the table, whatis an emirormental
Wﬁdmm'dlrﬂeadofpeVOlem7 K

-

Amcingtoﬁvtable ity might somecne pre!eumrg :

FOSSIL FUELS

‘Many powe plats b carbo basefueland i carbon dovide (0O CO; reeased to

the atmosphere has a negative impad! on global cimate. Engineers have used different
stategies o reduce e amount of CO eleased irto th atmosphere.

‘Onewdlstrategy 1510 burn biofuels nctead offossil fuels. Whie fossit fuels come from

lorgdead organisms, blofudcomes fiom planls thatived and ded recert

Anothastrategy invokes trapping a pation of e CO, emited by pover plants and stoing
deep undergrotnd orin the ocean This  talegy is called carbon capture and storage.

" Rekesed luA!nmp?L e

PoserPlnl 00,
" Emissions

Stored in Ocean
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Fossil Fuels
item #3

Ra‘er to “Carbon Caplure and Storage" on the right
£ Type your answer b the question.

Usemedatamtheu'ashto expain how depth aﬂeds
© e longem effedmess orstonng I:Oz inthe ocean
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FOSSIL FUELS
Carbon Capture and Storage
Carbon capture and storage involve trapping a portion of the CO; emitted by povier plants

and staring it where it cannol be released back into the almosphere. Cre possible place fo
store the COy s in Ihe ocean, because the CO dissoles inthe waler.

‘Scuenusts ave developed amalhematical model to calcuate me percentage of CO that
" continues toremain stored afer COyis pumped irto fie ocean at three different depihs (800

melres, 1 500 metres, and 3 000 melres). The model assumes thal the €Oy is pumpedinto
the oceanin e year 2000 The graph below shows the resuts ofthis model
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Test item 3: Volcanic Eruptions

Unit Overview

(.

This released unit focuses on the distribution pattern of volcanoes and the impact of volcanic
eruptions on climate and the atmosphere. Stimulus materials include a map showing the location of
volcanoes and earthquakes around the globe and graphs illustrating the impact that volcanic eruptions
have on the amount of solar radiation that reaches Earth’s surface and on carbon dioxide

concentrations in the atmosphere.

Volcanié Eruptions
Item #1

Refer ic “Volcanic Eruptions™ on the right: Click on a choice
 to answer the question.

Seled the iotation on'the map below that is least likely to;
- expefience volcanic adivity or earthquakes.

ERRACY

Sl s emna BE

VOLCANIC ERUPTIONS

‘Ring of Fire is shown on both maps.

g

- Volcaric eruptions and earihquakes affect people in many parts of the worid. Map 1 shows
the location of volcanoes. Map 2 shows the location of earthquakes. A region called the

. o Saoly'e

]

Map 2 - Earthquakes
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Volcanic Eruptions
Item #2

VOLCANIC ERUPTIONS
# Effects on Selar Radiation
Referlo *Effects on Solar Radiation” on f . ;

. ansverfothe question. e dght. Tiog your 4 Whenvolcanoes enupt, they emit voluanic ash and suiphur dioxide into the atmosphere.

g “ The graph below shows the effect thal these emissions have on the amount of solar
Ly radiadonihat feaches Eartt's suface.
i

-~ Why does the percenltage of solar radiation hal rcaches - . .

: Eartis suface change after volcanic eruptlons? \ Solar Radiation Reaching Earth's Surface Over Time
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Volcanic Eruptions
Item #3

rETEER, e - .
GO s AU T

ahws;)rxere?

I S AN A s NNy

& Amajor effedt because there have been many
enphons

S8 [ Gt Sty b

Relerlo “Amospheric Carbon Dioxide*onhe ight Clckon
achoice fo answer the question.

Based on e fomation proded,what eflec do'volric
enuptions have on the concentration of carbon dioxide in the

& Amajor efied, because each enption ejects lrge

- amoutsof maleral

5 & Aminor effect, becatse volcanoes release fitte C0;
“compared to other sources.

% Aminor efied, becatse CO; levelsinthe atmosphere
;- degreaseduing gmpﬁbi's

OIS

e

VOLCANIC ERUPTIONS
Atmospheric Carbon Dioxide

volcanoes emil carbon dioxide (CO;) during enuptions. The graph bedow shows
almospheric carbon diotide concertretions thal scienists have measured since 1960.

CO; in the Atmospricre Over Time
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The table below shows the relative contribution of different sources to the carbon

dioxide in the atmosphere.

? rL Volcanic emissions <1% -
i Human-caused emissions 20%

: Piant respiration 0%

: Microbial respiration and decompostion 0%

i et A
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Test Item 4: Groundwater Extraction and Earthquakes

Unit Overview

This unit focuses on natural and human processes that may lead to earthquakes. The stimulus
materials include a text and graphic illustrating the ‘relationship of faults to earthquakes, a map
showing levels of stress in one region of Earth, and a short text about an earthquake believed to have
been caused by groundwater extraction.

Groundwater Extraction and Earthquakes

Item #1

GROUNDWATER EXTRACTION AND EARTHQUAKES

T AT A

.8&%'$ G‘. °;“"»’“'Va’¢’5’-‘?’a‘”°” and Earthquakes™ on the 5 The rocky crustis the uppermost layer of Earth_ The crust is broken up info tectonic
NP0 Joliansier o e qoesiion, ; plates that ride on a layer of rock lhat is partia”y mefted. The plates contain breaks
called fautts. Earthquakes happen when stress accumuiated along the faultis
released, causing parts of the m;slto shift: An example of a shift alonga fauttis shown
below.

Aai o

b

+ Stress bulkds i .aturally at fautts. Why does this happen?

¢
3
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Groundwater Cxtraction and Earthquakes
Item #2

GROUNDWATER EXTRACTION AND EARTHQUAKES
Stress in Earth's Crust

 Reforlo "Stressin Earlh's Crust” on the night Usé drag
- anddrop to answer the question.

> Themap on teight shos the levels of siress in Earth's
; Custina region. Fou bcations wittin the region e

- identiied 25 A, B, C, &rd D. E4ch location s on or neara
" faut et nunsthrough the region

Levels of Stress in Earth's Crust

Highest Stress

Put the locations in ordes from lowest risk fo highest risk of-  +-
- eariquake.

. REEE

Highestriske -

T

¥ : Lowest Stress

i Lowestisk |~

{
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Groundwater Extraction and Earthquakes
Item #3

GROUNDWATER EXTRACTION AND EARTHQ!JAKES

P B , The 2011 Eathquake In Lorca
- Referto "The 2011 Earthquake In Lorca® on the right

2 Clickona choice to answer the question

if  Lorca, Spain,islocafed in a region that experiences earthquakes relativety ofien. One

L] eathquake occurred in Lorca inMay 2011, Geologists befievé that unke previous

; earthquakes in e region, this earthquake may have been caused in pa bj human

. aciivity, specifically by the pumping of groundwater. According to the gedlogists”

) The earthquake was fet many Klomeresaway fiom ~ (§  Mypothesis, exracing water from underground contrinuted to stress on a nearby faut,

Tl il whichtiggered a Shithat resuted in the earthquake.

Z: Movemen! elong the fauk was greates! in'areas where
the pumping created the greatest stress,

& Lorca has hed earthquakes that were of grater

| megninde anthe May 2011 eathquake,

: & The earthquehe was folowed by a e of smallr

earhquakes fet in the region around Lorca;

viv bl

Which observation supports the geologists' bypothesis?

s M bR

o3 N Rt Y Ak

TS

caren Ay

- E “ i A R T (e L e T nes e )
s ot s d3atig b o ae A e T it

e U T S S—_—— - !
Ked A LT B0 MM L0 b 50 15 O 563 A e R T R R 2 S A N 2554 i A

R




. Referlo*The 2011 Eatthquake In Lorca” on the ight
* Chickon one or more boxes to answer the question. b

Astaderimivesip atownina region far from Lorca:.
* leams about the geologists' hypothesis about the 2011
3 e.amquakein Lorca. The student knows that groundwater

: tff of earthquakes in his town. Which of the foﬂomng queshons

- groundwater extraction will tigger an earthquake in h!e}
: town?
. v Rememberto select one or more boges.

' g Does'mecmstinmefeg‘loncomainfaurts?

W

poluedv
r_ Whet are the average daily temperatures in the
fegion? i
b
- §

Groundwater Extraction and Earthquakes
Item #4

P e R
e A i

 extradioninthe region where he fives has led to a decine in
- the groundwate: level Heiis concemed abouf the poss1b11y

= CT?ZY".",Z‘:SFLYJ“T’ TSI

:  should the stisdeta consnder in evaluating the risk that -

" Isthe crust in the region subject to stress from natural
causes?

™ Is water pumped from the ground in the reglon

GROUNDWATER EXTRACTICN AnD EARTHQUAKES

The 2011 Earthquake In Lorca

Lorca; Spain, is located in a region that experiences earthquakes relatively often. One
earthquake nccured in Lorca in May 2011. Geologists befieve that tnlike previous
earthquakes in the region, this earthquake may have been caused in part by human
ativity, specifically by the pumping of groundwater. According to the geoiogists’

: hypolhes.s extracting water from underground contributed to stress on a nearby faut, 3
which tiggered a shift that resutted in the eartfiquake.
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Test Item 5: Blue Power Plant

Unit Overview

This released unit focuses on a power plant that uses the differences in the salt concentration between
salt water and fresh water to generate electricity. The stimulus includes text describing this process
and an animation showing the movement of water through the plant and the movement of water
molecules across a semi permeable membrare,

] n.¢-\,,. s

Qghoﬂuc

1 Read the iniroducnon. 1hen click on the NEXT arrow

 This2nimation Sho.s o ... iad of power plant that
is located where a fresmvater niver and water from
the ocean meel. The powerpiantus&sme
differences in the saft concentrations in the two
bodies of water lo produce eleclncity In the power
piant, fresh weier from the river is pumped through
a pipe into one container. Satt water from the ocean
is pumped into znother container. The two
contziners are separated by amembrarie thet
aliows only water molecules to move thivygh it

‘Weler molecules na*urarfy move through 1 the
membrane from the containgr of low san
concentration to the container of high salt
concentration. This increases the volume and
pressure of e waier in the containes of salt water.

[
- | Ciickonthe magnitying glass Q to observa this
{ movement of water molecules. -

. The high pressure water in fhe salt water container
% then flows through a pipe. moving a turbine to
generate electncity.
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Blue Power Plant

Item #1

more boxes to answer the Guestion.
Fogrlggtiorsin_t_he power plant have been numbered. -

Water is pumped fiom the iiver o location 1, marked or
thesaeen..-

L d A

J Rcmemberto select one or more boxes.

Inwhich locations cotid water molecules that come from
- tenverbe found eterinthe process? -

3 Locetiond -

Referto "Blue Pover Plant”on the ight Click o one of

R e vl A T 7T 8
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Blue Power Plant
Item #2

Click on the magnilying glass to see what happens to
the wster molecules and dissalved salt in the
‘. containers. Select from the drap-down menus lo

' camplele the sentenca

: River water has & low concentration of sak. As the
- molecules move through the membrane, the sal
concentration in the container of fresh water

{Seed  ~' andthesal concentration in the'

.} container of salt water [ Select’ ... e

e e NSy s e

netwater low

©

salt

water

Students are to determine the effect the movement of water across the membrane on the salt
concentration of the fresh water and the salt water.




Both dropdown boxes have options increases & decreases. Student has to choose which correct
option from each dropdown box.

Blue Power Plant
Item #3

e

AT

Relerlo "Blue Power Plant"on the right Select from the
drop-down menus lo answer the question.

TR T AT

- Several energy conversions oocur within the power plant
‘Wa kind of energy conversion occurs in the furbine and
:genenato?
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electrical.

Blue Power Plant
Item #4

Raaf.‘o “Bive Pogzr Piant” on tte right Type your
answer o 2 question '

Meny electic power plants use fassilfuefs, such s o
and ooz, 2s their energy source. A

hhy is s 12w power plart censidered to be mare
enaronmeniz iy ey than power plants that use fossil
1els?
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KENDRIYA VIDYALAYA NO.1 (lind shift) INDORE
Holyday Home work Dacember 20199
CLASS = IX
MATHEMATICS |
1IfE, F, G and H are respectively the mid-points of the sides of n parallologram ABCD, show that ar(EFGH) = 4(ABCD)

2 Inthe figure, ABC and ABD are two triangles on the same basa AB, If the line sogment CD s blsactod by AB at O, show that ar(ABC)
= ar(ABD)

a i NG -

3 In given figure ABCD is a parallelogram with AB||CD. If area of parallelogram Is 72 em2 then find area of (AABE)
VA 7
/e \/

4 D, E, F are respectively mid points of side BC, CA, and AB of AABC respectively then show that ar(ADEF) = I.ar(/.\ABC)
4

§ Prove that *Parallelograms lies on same base and same parallel are equal in area”
6 In the figure A B,C and D are four points on a circle. AC and BD intersect at a point E  such that ZBEC =130%and ZECD = 20°,
Find <£B4C.

7 In the given figure, ZABC =75° Find £4DC

8 If diagonals of a cyclic quadrilateral are diameters of the circle through the vertices of the quadrilateral, prove that it is a rectangle,

9 Ois the centre of the circle. If chord AB = chord CD, then find x o —

10 O 'is the centre of the circle; AB is a chord of the circle.OM  AB. If AB = 20cm, OM = 2+/an1, then the radius of the circle is

11 If O is the centre of the circle, then angle Z4ACB = 35, Then find x

12 If a line intersects two concentric circle with the centre O at A, B, C and D, prove that AB = CD.

13 Prove that a cyclic parallelogram is a rectangle.
14 ABis adiameterand < ABC =300, then find L£AB

15 Find  / BCD

16 Prove that "Angles subtend by an arc at the centre is double of angle subtendgd By same arc at any point of remaining part of circle”

17 Construct DABC in which DB=60°, PC=90° and AB+BC+AC=11cm.

18 Construct a triangle ABC in which BC = 7cm, <B =60" and AB + AC = 13cm

19 Construct an angle of 75° and bisect it with the help of ruler and compass

20 Construct a APQR in which QR =7cmZ Q=600 and PQ + RP = 10 cm

21 Construct 2 AXYZ in whichZ Y =300, Z=600and XY +YZ+ ZX=11cm

22 A rhombus shaped field has green grass for 18 cows to graze. If each side of the rhombus is 30m and its longer diagonal is 48 m, how
much area of grass field will each cow be getting?

23 Find the area of a triangle two sides of which are 18cm and 10cm and the perimeter is 42cm,

24 Find area of triangle ABC

25 Find the area of an equilateral triangle of side ‘a’ using Heron's formula.

26 Convert 7000cm? into m?

27 The sides of a triangular plot are in the ratio of 3;5:7 and its perimeter is 300m.Find its area.

28 If length of side of an equilateral triangle is 4V3 cm then find its area )

29 A field is in the shape of a trapezium whose parallel sides are 25m and 10m. and non parallel sides are 14 cm and 13 cm . Find area of
the field o

30 A metal pipe is 77cm long. The inner diameter of a cross section is 4cm, the outer diameter being 4.4cm.Find its
i) Inner curved surface area i) Outer curved surface area iii) Total surface arqa.( ‘ ) m=22

31 A lead pencil consists of a cylinder of wood with a solid cylinder of graphite filled in the interior,
The diameter of the pencil is 7mm and the diameter of the graphite is 1mm.|f the length of the pencil is 14cm, find the volume of the
wood and that of the graphite.( ) ) ) :

32 A soft drink is available in two packs-(i)a tin can with a rectangular base pf length §cm and width 4cm,having a height of 15cm and (ii)
a plastic cylinder with circular base of diameter 7cm and height10cm.Which container has greater capacity and by how much? (

o o— T3

33 Find total surface area of a cube of side 4cm

34 Find lateral surface area of a cuboid of size 8cm x 6cm % 5em

35 The length, breadth and height of a room are 5m, 4m and 3m respectively. Find the cost of white washing the walls of the room and
the ceiling at the rate of Rs2.50

36 A small indoor green house (herbarium) is made entirely of glass panes held togelher with fape. It is 30cm long, 25cm wide and 25¢m
high.i) What is the area of the glass?

37 Find volume of a right circular cylinder with radius 6 cm and height is 7 cm.

38 If diameter of a metalic ball is 4,2cm, what is mass of the ball if density of the metal is 2,5 per cubic cm

39 A hemispherical bowl made of iron has inner radius is 14 cm. Find cost polishing of inner surface of bowl at the rate RS.10 per 100 cm?

40 If AABC with sides 12cm, 5cm and 13cm revolved about 12cm side. Find volume and CSA of cona which generated by revolution.
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Class ix
Winter vacation Homework ( PHYsIcS)

Define 1 joule of work.
Derive an expression for Kinetic energy formula.
Calculate the work done by the brakes of a car of mass 100kg when its speed is reduced
from 20m/s to 10m/s?
State law of conservation of energy. Write at least two examples.
Write the differences between compression and rarefaction.
Explain the various characteristics of sound.
Sound waves travel with a speed of about 330m/s. What is the wavelength of sound
whose frequency is 550 Hertz? .
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WINTER BREAK HOME WORK FOR CLASS 9™ 2019 Subject-Science (Biology)

01-Find out some HYV of following crops-Wheat, Maize, Pigeon Pea and chick pea Ground nut Soybean.
02-Surf on internet and note HYV of Mango, Guava Coconut. Apple ,Pomegranet, Zuzuba.
03-Enlist certain GM Crops grown in India.

04-Complete the class work up to Improvement of food resources.(In text and exercise Questions)
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Class X
- Winter vacation Homework [ PHYSICS)

1. The focal length of eye lens increases when eye muscles are
a) Contract and lens becomes thicker
b) Contract and lens becomes thinner
c) Relaxed and lens becomes thinner
d) Relaxed and lens becomes thinner
2. Magnetic field inside a long solenoid carrying current is

a) Zero
b) Different at all points
c) Partly uniformand partly non-uniform
d) Same at all points
3. Atthe time of short circuit, the current in the circuit
a) Varies continuously
b) Increases heavily
c) Does not change
d) Reduced considerably
4. Define the term Coulomb.
State the relationship between the electric current, the charge moving through a

conductor and the time of flow.
Calculate the charge passing through an electric bulb in 20min if the value of
current is 200Ma.
7. a)What is an electromagnet?
b) List any of its two-uses.




Class11
Winter vacation homework (PH vVSIC S)
1. Define the terms: stress and strain and also state their S.1. units. Draw the stress V/s
strain graph for a metallic wire, when stretched up to the breaking point.
2. A steel wire of radius 10 mm and length 1 m. A 100 KN force stretches it along its
length. Calculate (a) stress (b) elongation (c) strain (y = 2 x 1011 N/m2).
3. What is stoke's law? Derive the relation by the method of dimensions.

4. State and prove Pascal's law.
5. State & prove Bernoulli’s theorem for a non-viscous liquid

6.Define terminal velocity. Find an expression for it.

7. Explain surface tension and surface energy. Prove that surface energy is numerically
equal to surface tension.

8. Derive an expression for the excess of pressure inside a liquid drop.

9. Derive an expression for the rise of liquid in a capillary tube of uniform diameter and
sufficient length.

10. Derive a relation between volume expansion and linear expansion.

—CEASS X
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WINTER BREAK HOME WORK FOR CLASS 11™ 2019 (subject- Biology)
O1-Prepare a scrap file using Quarter of chart paper-Tables given in mineral nutrition ,Diagrams

mentioned in the chapter Bio-molecules.
02-Prepare a chart of action, absorption and the concerned pigment graph, Z scheme, cyclic and non-
cycliic photo phosphorylation. Calvin cycle, biosynthetic phase,
05-Prepare a chart in EMP cycle, kreb’s cycle,ETS.RQ etc.

06-Prepare a comperative chart of physiological action of different PGR in agronomic and horticulture in

tabulated form.
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HOLIDAY HOMEWORK FOR CLASS XI
Subject - Mathematics

Q1. The slope of a line is double of the slope of another line, If tangent of the angle between them is 1/3,
find the slope of the lines. :

Q2. Aline perpendicular to the line segment joining the points (1,0) and (2.3) divides it in the ratio 1:n.
Find the equation of the line.

Q3.  Find equation of the line passing through the point (2,2) and cutting off intercepts on the axes whose
sum is 9,

Q4. Find the distance of the point (-1.1) from the line 12(x + 6) =5(y - 2).

X, AL
Q5. Ifpis the length of perpendicular from-origin to the line @ then show that P*  &* b
Q.6.  Find the coordinates of the foot of the perpendicuiar from the point (-1,3) to the line 3x —4y — 16=0.
Q.7.  Assuming that straight lines work as the plane mirror for a point, find the image of the point (1, 2) in
the linex -3y +4=0.
Q.8.  Find the value of p so that the three lines 3x +y — 2 =0, px + 2y -3 =0 and 2x -y -3 = 0 may
intersect at one point. |
Q.9.  In what ratio, the line joining (-1. 1) and (5, 7) is divided by the line x +y =4,
Q.10. Find equation of the line which is equidistant from parallel lines 9x + 6y -7 =0 and 3x + 2y +6=0
Q.11 Find the centre and radius of the circle 2x* +2 y* — 2x + 8y—-46=0.
Q.12 Find the length of the latus rectum of parabola x*= 8y.

Q.13Find the equation of the circle passing through the points (2, -2) and 3,4)

and whose centre is on the line x +y =2,

Q.14Find the coordinates of the foci, the vertices, the eccentricity and the length of latus rectum of the
hyperbolal6x” - 9y* = 144 A

Q.15 Prove that P(3, 2, 4), Q(5, 4, -6) and R(9, 8, -10) are collinear.

Q.16A line perpendicular to the line segment joining the points (1, 0) and (2, 3) divides itin the ratio 1: n.
Find the equation of the line.

—+==1,

Q.17 If p is the length of perpendicular from origin to the line £+% =1, then show that
a
L_1,1
PZ aZ b2 °

Q.18 Find the equation of the ellipse satisfying the given condition

Foci (0, £5), Vertices (0, +13).
Q.19 An equilateral triangle is inscribed in the parabola y2 = 12x, where one vertex is at the vertex of the
parabola. Find the length of the side of the triangle,

Q.20A deflected beam is the shape of a parabola x*= 4ay. The beam is supportedat its ends which are 12m

apart. The deflection in the centre is 9cm only. Find the point on the beam where deflection is Sem.Parabolic

and elliptic beam and archs designed by architects for strength and beauty. Is it possible to design hyperbolic
beams?



Class Xl
Computer Science
Programming in Python:

¢ Find the largest and smallest numbers in a list.

e To find average and grade for given marks,

e To find amount for given cost-qty-discount,

e To calculate cost perimeter-wise/ area-wise,

e To calculate interest (Simple and Compound)

e To calculate profit-loss for given Cost and Sell Price
e To calculate EMI for Amount, Period and Interest,

e To calculate tax (examples from GST/Income Tax)

e Find whether a string is a palindrome or not.
e Given two integers x and n, compute x".
e Compute the greatest common divisor and the least common multiple of two integers.

e Testif a number is equal to the sum of the cubes of its digits. Find the smallest and largest
such numbers.

Data Management:
Write short note on following terms:-
Relational Database model, Relation, Domain, Degree, Cardinality, Views,
Primary Key, Candidate Key, Alternate Key, Foreign Key, Referential Integrity.
Unique Constraints, Default Constraints, Check Constraints
Differentiate between DDL and DML commands.
SQL Commands
e To create a database
e To create student table with the student id, class, section, gender, name, dob, and
marks as attributes where the student id is the primary key.
To insert the details of at least 10 student in the above table.
To delete the details of a particular student in the above table.
To increase marks by 5% for those students, who have Rno more than 20
To display the entire content of table on screen
To display Rno, Name and Marks of those students, who are scoring marks more
than 50.
To find the average of marks from the student table
To find the number of students, who are from section ‘A’
To add a new column email of appropriate data type
To find the minimum and maximum marks obtained by students
To modify email for each student.
To display the information all the students, whose name starts with ‘AN’ (Examples:
ANAND, ANGAD,..)
e To display Rno, Name, DOB of those students, who are born between ‘2005- 01-01’
and ‘2005-12-31
e To display Rno, Name, DOB, Marks, Email of those male students in ascending order
of their names.
e To display Rno, Gender, Name, DOB, Marks, Email in descending order of their
marks.
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Class Xl
INFORMATICS PRACTICES

Programming in Python:

To find average and grade for given marks,

To find amount for given cost-qty-discount,

To calculate cost perimeter-wise/ area-wise,

To calculate interest (Simple and Compound)

To calculate profit-loss for given Cost and Sell Price

To calculate EMI for Amount, Period and Interest,

To calculate tax (examples from GST/Income Tax)

To find the largest and smallest numbers in a list.

To find the third largest number in a list.

To find the sum of squares of the first 100 natural numbers.
To find whether a string is a palindrome or not.

To compute x", for given two integers x and n,

To compute the greatest common divisor and the least common multiple of two integers.

To test if a number is equal to the sum of the cubes of its digits. Find the smallest and largest
such numbers in the range of 100 to 1000.

Data Handling:
The following are some representative lab assignments.

Import numpy as ‘np" and print the version number.

To create an array of 1D containing numeric values 0 to 9
To create a numPy array with all values as True

To extract all odd numbers from numPy array

To extract all even numbers from numPy array

To copy the content of an array A to another array B, replacing all odd numbers of array A
with -1 without altering the original array A

To replace all odd numbers in numPyarr with -1
To copy content of a 1D array into a 2D array with 2 rows
To perform basic arithmetic operations on 1D and 2D array

Data Management:
Write short note on following terms:-

Relational Database model, Relation, Domain, Degree, Cardinality, Views, Primary Key,
Candidate Key, Alternate Key, Foreign Key, Referential Integrity.
Unique Constraints, Default Constraints, Check Constraints

Differentiate between DDL and DML commands.
SQL Commands

SQL Commands
To create a database

To create student table with the student id, class, section, gender, name, dob, and marks as
attributes where the student id is the primary key.

To insert the details of at least 10 student in the above table.

To delete the details of a particular student in the above table.

To increase marks by 5% for those students, who have Rno more than 20

To display the entire content of table on screen

To display Rno, Name and Marks of those students, who are scoring marks more than 50.
To find the average of marks from the student table

To find the number of students, who are from section ‘A’

To add a new column email of appropriate data type

To find the minimum and maximum marks obtained by students

To modify email for each student.

To display the information all the students, whose name starts with ‘AN’ (Examples: ANAND,
ANGAD,..)

To display Rno, Name, DOB of those students, who are born between ‘2005- 01-01’ and ‘2005-12-31’
To display Rno, Name, DOB, Marks, Email of those male students in ascending order of their names.
To display Rno, Gender, Name, DOB, Marks, Email in descending order of their marks.



CLASS XII
WINTER VACATION HOMEWORK ( PH V< (¢ g)

1. Write Einstein’s photoelectric equation. State clearly the three salient features observed
in photoelectric effect which can explain on the basis of this equation. The maximum
kinetic energy of the photoelectrons gets doubled when the wavelength of light incident

on the surface changes from /\ | to /\7_ . Derive the expression for the threshold
wavelength lamda0 and work function for the metal surface.

2. Write two characteristics features observed in photoelectric effect which support the
photon picture of electromagnetic radiation. Draw graph between the frequency of
incident radiation (V) and the maximum k.E. of the electron emitted from the surface of

a sensitive material. State clearly how this graph can be used to determine (i) planck’s
constant and (i) work function of the material.

3. Ana particles and a proton are accelerated from rest by the same potential. Find the
ratio of their de-broglie wavelengths.

4. Plotagraph shdwing variation of de Broglie wavelength () associated with a charged

- particle of mass m, versus 1[]7, where V is the potential difference through which the
particle is accelerated. How does this graph gives us the information regarding the,
magnitude of the charge of the particle?

5. Light of the wavelength 2000A° falls on a metal surface of work function 4.2Ev. What is
the K.E of the fastest electrons emitted from the surface?
(i) What will be the change in the energy of the emitted electrons if the intensity of
light with same wavelength is doubled?

(ii)

If the same light falls on another surface of work function 6.5eV, what will be the

energy of emitted electrons?

6. Draw graphs showing the va;riation of photoelectric current with anode potential of a
photocell for (i) same frequency but different intensities Iy >I,> I3 of incident radiation.

(ii) Same intensity but different frequency vi>v, >v; of incident radiation. Explain why
the saturation current is independent of the anode potential.
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HOLIDAY HOMEWORK FOR CLASS XII
Subject - Mathematics

(1) SAMPLE PAPER-10, 11, 12,13 AND 14.
(2) SHEET OF 170 IMPORTANT QUESTIONS.
(3) YEAR WISE & CHAPTER WISE QUESTIONS OF LAST 10 YEAR.
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